ICS 103-03 Quiz#03 Key (Term 102) (4%)
 1. [8 points] What is the output of the following C program fragment?

int m   =   25;

while(m > 10){
   printf("%d   ", m);
   m -= 3;

}
25
22
19
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13

2. [8 points] What is the output of the following C program fragment?

     int k, m;

  for(k = 1; k <= 4; k++){

     for(m = 1; m <= k; m++){

        printf(“%d”, k);

     }
     printf(“\n”);
  }

1


22


333


4444

3. [8 points] Convert the following for-loop into an equivalent while-loop:

     int  k;

  for(k = 100; k <= 700; k += 50)

      printf(“%d   ”, k);


int k = 100;

while(k <= 700){


     printf(“%d   ”, k);


  k += 50;

     }
4. [16 points] The starting salary of an employee is 120,000 Saudi Riyals per year. Each year his salary
    increases by 2,500 Saudi Riyals. Write a complete C program that uses an appropriate loop to compute 
    and print the employee’s salary for each of the first 15 years and the total amount of salary he would
    receive over the 15-year period.  Assume that the employee starts work at the beginning of a particular 
    year.
Sample run of the program:
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Total: 2062508
Press any key to continue . .




#include <stdio.h>

int main(void){

    long salary = 120000;

    int k;

    long total = 0;

    printf("Year#\tSalary Per Year (SAR)\n");

    for(k = 1; k <=15; k++){

          printf("%2d\t%8d\n", k , salary);

          total = total + salary;

          salary = salary + 2500;

    }
    printf("Total:\t%8d\n", total);

    return 0;
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